Monday August 29		                  Name ________________
                Check your work!              Final Answer
	1. True or False
261 ÷ 9 = 29








	 (use multiplication)
	1.

	2. True or False
154 ÷ 7 = 22




	(use multiplication)
	2. 

	3. Ralph is checking a division problem by doing the following: 

153
x  4
________
612
+  2
___________
614

What problem is Ralph checking?


	3. 

	4. Clark says the quotient of 787 ÷ 6 is 130 r 1. Use multiplication to check Tammy’s answer. 


______________ x 6 + 1 = ______________


Is Tammy’s answer correct?




	4. 

	5. Jeff wants to save the same amount of money each week to buy a new bike. He needs $266. If he wants the bike in 14 weeks, how much money should Jeff save each week?








	5. Jeff should save 


$_________ each week.


Tuesday
                Check your work!              Final Answer
	1. True or False
321 ÷ 9 = 36





	 (use multiplication)
	1.

	2. True or False
414 ÷ 2 = 270




	(use multiplication)
	2. 

	3. True or False
8806 ÷ 42 is 209 r28




	(use multiplication)
	3. 

	4. Dan is making a seating chart for an award banquet. There are 152 people coming to the banquet. If 8 guests can be seated at each table, how many tables will be needed for seating for the awards banquet. 







	4. 
___________ tables 

will be needed.

	5. Divide 575 by 14 by using partial quotients. What is the quotient? 

To find the quotient, subtract multiples of ____________ from the dividend until the 


number left is less that ___________. Then, add the _____________ to find the quotient. 


The quotient is ____________, and the remainder is ______________. 

	5. (Divide here)







Wednesday
                Check your work!              Final Answer
	1.  True or False
1248 ÷ 24 is 51








	(use multiplication)
	1. 

	2. True or False
5205 ÷ 17 is 306 r3




	(use multiplication)
	

	3. Divide
144 ÷ 12 =




	(check using multiplication)
	

	4. Samuel needs 331 feet of wood to build a fence. The wood comes in lengths of 15 feet. How many total pieces of wood will Samuel need? Theresa needs twice as many feet of wood as Samuel. How many pieces of wood does Theresa need?









	4. Samuel needs ______________ pieces of wood. 

Theresa needs ____________ pieces of wood. 

	5. Russ and Vickie are trying to solve this problem: There are 155 students taking buses to the museum. If each bus holds 26 students, how many buses will they need? 
Russ says the students need 5 buses. Vickie says they need 6 buses. Who is correct? 







	5. They will need 

__________ buses. So 

___________________ 

is correct. 


Thursday
                Check your work!              Final Answer
	1. Divide. Check your answer.
5216 ÷ 17








	(use multiplication)
	1. The quotient is 

_________________


the remainder is _____.

	2. Steve is buying apples for the fifth grade. Each bag holds 10 apples. If there are 61 students total, how many bags of apples will Steve need to buy if he wants to give one apple to each student?




	2. Steve will need to 


buy ___________ bags.

	3. Rasheed needs to save $232. To earn money, he plans to wash cars and charge $12 for each. Fill in the blanks in the two estimates Rasheed could use to determine the number of cars he needs to wash. 
_______ ÷ 10 = ___________

240 ÷ 10 = _______________
	3. 

	4. Choose the compatible numbers that will give the best estimate for 422 ÷ 36. (pick one from each column)

a. 440                 a.  50

b. 300                 b.  60

c. 350                 c.  40
	

	4. 

	5. Isaiah wrote this problem in his notebook. Label the parts of the division problem.

621 ÷ 9 = 69

quotient

divisor

dividend


Isaiah can check his work by multiplying the _____________ and the _____________. If the 


quotient is correct, the product should equal the ___________________.
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